

PO Box 93999 Southlake, TX 76092

Voice: Fax: (817) 546-7282 (817) 246-3361

Bill To:

Shakespeare Oil Co., Inc. 202 West Main St. Salem, IL 62881

INVOICE

Invoice Number: 141633

Invoice Date: Feb 28, 2014

Page:

1

Customer ID	Field Ticket#	Payment	Terms
Shak	62670	Net 30	Days
Job Location	Camp Location	Service Date	Due Date
KS1-01	Great Bend	Feb 28, 2014	3/30/14

Quantity	Item		Description	Unit Price	Amount
1.00 175.00 3.00 493.00 189.22 345.20 1.00 40.00 40.00	WELL NAME CEMENT MATERIALS CEMENT MATERIALS CEMENT MATERIALS CEMENT SERVICE CEMENT SERVICE CEMENT SERVICE CEMENT SERVICE CEMENT SERVICE CEMENT SERVICE	York #1-12 Class A Common Gel Chloride Cubic Feet Charge Ton Mileage Charge Surface ✓ Pump Truck Mileage Light Vehicle Mileage Joshua Isaac Ben Newell	INT PROPOSITION MAR 1 0 2014 10 502- 5	17.90 23.40 0.80 2.48 2.60 1,512.25 7.70 4.40	3,132.50 70.20 394.40 469.27 897.52 1,512.25 308.00 176.00
		Subtotal		-	6,960.14

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$

1,809.63

ONLY IF PAID ON OR BEFORE
Mar 25, 2014

Subtotal	6,960.14
Sales Tax	293.16
Total Invoice Amount	7,253.30
Payment/Credit Applied	
TOTAL	7,253.30



ALLIL OIL & GAS SERVICE J, LLC 062670 Federal Tax I.D. # 20-8651475

REMIT TO P.O. BOX 93999 SOUTHLAKE, TEXAS 76092

SERVICE POINT:	0
Grafber	1

DATE 2-28-14	SEC. 12 TWP. /L	RANGE 374	CALLED OUT	ON LOCATION	JOB START	JOB FINISH
LEASE YOYK	WELL# 1-12	LOCATION Has	y Zvest to B	San el	COUNTY	STATE
OLD OR NEW (Cir					00.41	1.72
CONTRACTOR H TYPE OF JOB 5. HOLE SIZE (Z CASING SIZE TUBING SIZE DRILL PIPE TOOL PRES. MAX MEAS. LINE CEMENT LEFT IN PERFS. DISPLACEMENT PUMP TRUCK # (366) BULK TRUCK # 34 I BULK TRUCK # 1	Deriting #2 Orface T.D. Sty Der Der Der Der Min SHC CSG. 15 Ft EQUIPMENT	TH 226. TH TH TH IMUM DEJOINT SERVEY LEX OCHEM.	OWNER CEMENT AMOUNT OR ZHOUSE COMMON POZMIX GEL CHLORIDE ASC HANDLING	DERED	@ 17.90 @ 23.40 @ * %6 @ @ @ @ @ @ @ @ @ @ @ @ @ ?.480 TOTAL	3.132. ⁵²
Don 0 5 3 8	should			SERVI	CE	
Sistem 13.40 SINTIN G	s clas A3/lac 4 bbl fortrat 430 pm Cinstite		DEPTH OF IC PUMP TRUC EXTRA FOO' MILEAGE MANIFOLD	K CHARGE/ TAGE H いへ り	<u>/512.25</u> @ @ <u>7.70</u> @ @ <u>4</u> .40 @	30 V. 000
STREET	hallespen Dil	,	-		TOTAI	1.996.2
CITY	STATE	ZIP	-	PLUG & FLOA	T EQUIPME	NT .
You are hereby re and furnish cemer contractor to do v done to satisfaction	Gas Services, LLC. equested to rent cen nter and helper(s) to vork as is listed. The	nenting equipment o assist owner or ne above work wa of owner agent or	s		@ @	
	e read and understa DNDITIONS" listed Richard Be	on the reverse sid	le. SALES TAX	(If Any) RGES 6.96 1.80	<u>د چ</u> ا . لا	ID IN 30 DAYS



PO Box 93999 Southlake, TX 76092

Voice: (817) 546-7282 Fax: (817) 246-3361

Bill To:

Shakespeare Oil Co., Inc. 202 West Main St. Salem, IL 62881

INVOICE

Invoice Number: 141878
Invoice Date: Mar 10, 2014

Page: 1

Customer ID	Field Ticket #	Payment	Terms
Shak	61985	Net 30	Days
Job Location	Camp Location	Service Date	Due Date
KS1-03	Oakley	Mar 10, 2014	4/9/14

Quantity	ltem	Description	Unit Price	Amount
1.00	WELL NAME	York #1-12		
162.00	CEMENT MATERIALS	Class A Common	17.90	2,899.80
108.00	CEMENT MATERIALS	Pozmix	9.35	1,009.80
9.00	CEMENT MATERIALS	Gel	34.60	311.40
67.00	CEMENT MATERIALS	Flo Seal	2.97	198.99
289.95	CEMENT SERVICE	Cubic Feet Charge	2.48	719.08
696.60	CEMENT SERVICE	Ton Mileage Charge	2.60	1,811.16
1.00	CEMENT SERVICE	Plug to Abandon V	1,250.00	1,250.00
60.00	CEMENT SERVICE	Pump Truck Mileage	7.70	462.00
60.00	CEMENT SERVICE	Light Vehicle Mileage	4.40	264.00
1.00	CEMENT SUPERVISOR	Kelly Gabel Control of the contro		
1.00	EQUIPMENT OPERATOR	Wayne McGhghy		
		国际企业市社会公司任务公司 在政治的证明的任务		
		10502-17		
		10502-17 KW /		
		\tag{'}		

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 3,124.18

ONLY IF PAID ON OR BEFORE
Apr 4, 2014

Subtotal	8,926.23
Sales Tax	727.49
Total Invoice Amount	9,653.72
Payment/Credit Applied	
TOTAL	9,653.72



ALLIED OIL & GAS SERVICES, LLC 061985

Federal Tax I.D. # 20-8651475 REMITTO P.O. BOX 93999 SERVICE POINT: SOUTHLAKE, TEXAS 76092 Oakley, KS RANGE CALLED OUT ONLOCATION JOB FINISH JOB START Healy, w 40 Bison Rd ? COUNTY LEASE YOLK WELL# 1~(") LOCATION 500H OLD OR NEW (Circle one) CONTRACTOR HT #2 OWNER Jame TYPE OF JOB HOLE SIZE T.D. 46.30 CEMENT CASING SIZE DEPTH AMOUNT ORDERED 270 5K5 TUBING SIZE DEPTH DRILLPIPE DEPTH TOOL DEPTH PRES. MAX **MINIMUM** 162513@ 1290 MEAS, LINE SHOBJOINT POZMIX 108850 935 1009 9585 0 34160 311 CEMENT LEFT IN CSG GEL PERFS. CHLORIDE DISPLACEMENT ASC 674 Pla-sea EQUIPMENT @ 7 @ **PUMPTRUCK** CEMENTER Kelly (Dabe 0 # 42a **@** HELPER Wayn's Moshahu @ **BULK TRUCK @** #3734310 DRIVER GICK (TWS) **@ BULK TRUCK** DRIVER HANDLING 289, 95044 @ MILEAGE ILLIAM X 60 XZ REMARKS: TOTAL 6950 633370. SERVICE 800 1580 40@ 750 DEPTH OF JOB 50 0 270 20@ 60 PUMP TRUCK CHARGE EXTRA FOOTAGE 308件 Thankyou MILBAGE M & HV 60 @ 779 Kelly 4Cteles MANIFOLD. CHARGETO: Shakespere TOTAL 197600 STREET_ STATE_ ZIP. PLUG & FLOAT EQUIPMENT 0 To: Allied Oil & Gas Services, LLC. **((0**) You are hereby requested to rent cementing equipment @ and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or TOTAL .. contractor. I have read and understand the "GENERAL SALES TAX (If Any) TERMS AND CONDITIONS" listed on the reverse side.

TOTAL CHARGES

LE PAID IN 30 DAYS

DISCOUNT 3

PRINTED NAME Drug Roberts
SIGNATURE Day Loberts